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1101 [ X418 Gb 93 1,135 0 1,135
1113|FEAS (&D) 109 1,090 0 1,090
RAIEES GH 1 10 0 10
1141|5848 me 16 80 0 80 5 0 0 0 3,780 0 1,080
GhH 16 80 0 80
1201|B% Fi& 115 1,725 0 1,725 15 0 0 0 3,564 0 3,132
(&) 115 1,725 0 1,725
1203| v Ay EE 83 830 0 830 10 0 0 0 2,106 0 756
GhH 133 1,580 0 1,580
1205[[F5SNAE [EE 1,781 712 712 0 0.4 184 0 86 0 0 0
126 240 48 0 48 0.2 0 0 0 113 0 92
& 2,054 892 712 180
1207[FE& &E 970 97 97 0 0.1 92 0 66 0 0 0
EE 9 9 9 0 0 432 0 0 0 0
(&) 979 106 106 0
1209| 5% B 6 18 0 18 3 0 0 0 0 2,484 0
(&) 6 18 0 18
1223| &% EE 360 108 108 0 0.3 119 0 63 0 0 0
(&) 385 113 108 5
1301[#aF S 8 16 0 16 2 0 0 0 1,080 0 1,026
=40 400 120 0 120 0.3 0 0 0 130 0 124
=0 23 115 0 115 5 0 0 0 1,944 0 1,836
(&) 431 251 0 251
1321 [HR mE 84 420 0 420 5 0 0 0 1,944 0 1,728
= E 80 400 0 400 5 0 0 0 1,944 0 1512
=5 60 300 0 300 5 0 0 0 0 1,944 0
(&) 224 1,120 0 1,120
1351[E—<> |55 1,140 171 0 171 0.15 0 0 0 124 0 111
GhH 1,140 171 0 171
1353| Tk =5 90 9 0 9 0.1 0 0 0 238 0 151
(&) 90 9 0 9
1403| e T Nl 23 46 0 46 2 0 0 0 2,376 0 864
(&) 23 46 0 46
1407 | EB T Nl 15 30 0 30 2 0 0 0 2,376 0 2,268
(&) 15 30 0 30
1501 | H & e 12 60 0 60 5 0 0 0 1,296 0 648
(&) 12 60 0 60
1541 | £ & dbiEE 150 1,500 0 1,500 10 0 0 0 0 1,620 0
(&) 152 1,540 0 1,540
1603[ L) —  [EE 2 20 0 20 10 0 0 0 0 4212 0
(&) 2 20 0 20
1607[HY257 Eh 10 60 0 60
1609[F7avaly)  [EJI 35 210 0 210 6 0 0 0 2,160 0 1,728
Eh 35 210 0 210
1611[LAX =) 7 70 0 70 10 0 0 0 3,024 0 2,808
Gh 7 70 0 70
1627[2=k=F _[&EJI 75 15 0 15 0.2 0 0 0 194 0 184
REX 30 90 0 90 3 0 0 0 2,376 0 2,160
(&) 231 141 0 141
1705| T A= =E 360 29 0 29 0.08 0 0 0 0 108 0
(&) 360 29 0 29
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1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 141 0
& 150 30 0 30 0.2 0 0 0 77 0 66
GhH 1,020 117 0 117
1807|8E E& 250 25 0 25 0.1 0 0 0 0 49 0
f=554 1,050 210 0 210 0.2 0 0 0 0 78 0
E& 150 45 0 45 0.3 0 0 0 0 105 0
GhH 1,450 280 0 280
1809[L&HL EF 500 50 0 50 0.1 0 0 0 0 48 0
f=554 1,950 390 0 390 0.2 0 0 0 99 0 83
& 2,450 440 0 440
* S FEEL * 21,917 19,356 1,853 17,504
2139|7aR>  [F0FRL 30 150 0 150 5 0 0 0 2,592 0 1,404
GhH 30 150 0 150
2221|E+ & 7 70 0 70 10 0 0 0 6,588 0 5,292
(&) 7 70 0 70
2225| E#k & 10 100 0 100 10 0 0 0 0 5,400 0
GhH 10 100 0 100
2811|# & 320 80 0 80 0.25 0 0 0 421 0 346
EES 504 126 0 126 0.25 0 0 0 302 0 238
[E)) 824 206 0 206
* EEET * 1,742 1,052 0 1,052




